C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 52,817-47,736 =

« e ° ° ° ° o » »

2) 41,402 - 10,860 =

< ® @ ® L >

3 99,936 - 36,641 =

< ® ® ® ® ® *—>

4) 99,506 - 92,707 =

< ® @ ® @ ® >

5 93975- 14,672 =

6) 84,644 - 43,744 =

7) 83,282 - 66,473 =

< ® @ L ® L *—>
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Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) ; -
52,817 - 47,736 . 5,081
5081 5087 5117 5817 12,817 52,817
< > 2 30,542
-6 -30 700  -7,000 -40,000
3 63,295
2) 41,402 - 10,860 =
4 6,799
30,542 30,602 31,402 41,402
< > s 79,303
-60 -800 -10,000
6. 40,900
3) 99,936 - 36,641 =
63,295 63,296 63,336 63,936 69,936 99,936 7. 16,809
< >
-1 -40 600  -6,000 -30,000
4 99,506 - 92,707 =
6,799 6,806 7,506 9,506 99,506
< >
-7 -700 -2,000 -90,000
5 093,975- 14,672 =
79,303 79,305 79,375 79,975 83975 93975
< >
2 -70 600  -4,000 -10,000
6) 84,644 - 43,744 =
40,000 40,904 40,944 41,644 44644 84,644
< >
-4 -40 700  -3,000 -40,000
7) 83,282 - 66,473 =
16,809 16,812 16,882 17,282 23282 83,282
< >
-3 -70 400  -6,000 -60,000
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C:h Subtraction Using Open Number Lines Name:

Solve each problem. Answers
16,809 6,799 63,295 79,303
30,542 40,900 5,081 1.
1) 52,817-47,736 = 2
< ® ® ® ® ® *—>» 3.

2) 41,402 - 10,860 =

<4 @ @ @ @ > 6
3) 99,936 - 36,641 = &
< @ @ @ @ @ @ | g

4) 99,506 - 92,707 =

< ® @ ® @ ® >

5 93975-14,672=

6) 84,644 - 43,744 =

7) 83282 -66,473 =

< ® @ L ® L *—>»

M odified 1-7 |86|71]|57[43]29]14] 0 |
[ Math ] www.CommonCoreSheets.com 3




	Worksheet
	Answer Key
	Modified Worksheet

